Higher Mathematics

Quest
Integration Objective Questions
k
1. Find the largest value of k for which / 8xdx =1.
0
A g
B.
1
C. NG
D. ]
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
D 22 C 04 0.81 NC C12,C15 HSN 069
4
S%% dv = 1
°
27k
4, -+
0
" = 1
4
k= 7
1
o=t 5 Option D]
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k
2. Find the largest value of k for which / (2x —3)dx = 4.
0

A1
B. 2
C. 4
D. 7
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
C 2.2 C 0.69 0.48 NC C12,C15 HSN 18
k - b
x
J(&%—B) da = {— —B%} = k- 3k.
A P
3
2
k- 2k =4
2
-3k -4=0
(e+1)(k-4)=0
[6:—1 QY k=4‘ OPTLOVL
L3
3. What is the value of/ x2dx?
0
A
B. %
C. 3
D. 3
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
A 2.2 C 0.38 0.65 NC C13 HSN 163
1 5. 14
2 K7 L :
x X = | — = —=.
Jo d [ 5/, = Option
0
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4. What is the value of / x% dx?
0

1
AL
2
B. 2
C. 1
3
D. 3
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
B 22 C 0.5 0.46 NC C13,C15 HSN 144

1 1
[ d - {x:l} =L =2 Opton 8]

0 3/q o 3

3
5. What is the value of / (x* —4x +3) dx?
1

4

A -4
B. 0

2
c. 2
D. 4
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
A 22 C 0.68 0.38 NC C15,C12 HSN 153

3 3

3 2
j<%2—“r%+5) dy = Pg | +3x]
i

E_ 1
= _ (L )
21349 - (£-143
- 9q_qg_+4_2%2
= 9-9-1-2
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6. What is the value of / (4x2 +3) dx?
0

Quest

A. 24
B. 36
C. 39
D. 45
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
D 2.2 C 0.47 0.71 NC C15,C12 HSN 164
3 3
2 _ 4,3 2
(422+3) du = | 22° +34
o] 6
3
= 503433
3
2 2
= $x3+3
= 15

Oplion
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7. The diagram shows the area bounded by the curves y = x> — 8x% 4+ 16x + 7 and
y = x> —4x + 7 between x = 0 and x = a.

YA

y=2x3—8x2+16x+7

y=x>—4x+7

7

@)

ot----

R‘

Which of the following gives the value of the shaded area?

a
A. / (x® —9x% 4 20x) dx
0

a
B. / (x% — 9x% 1 12x + 14) dx
0

a
C. / (—x% +9x% — 20x) dx
0

a
D. / (23 — 7% 4 12x + 14) dx
0

Key

Outcome

Grade

Facility

Disc.

Calculator

Content Source

A

2.2

C

0.47

0.7

CN

C17 HSN 156

1
-[(
-1

- O + 20%) dr .

upper cwnve — ower c:ma) d

-+ b +7 — (2 —4x+?)> dx

Opton | A |
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8. What is the value of /0 " sinxdx?
A =2
B. 0
C. 1
D. 2

Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
D 3.2 C 0.32 0.32 NC C23,C15 HSN 165

x T

ng%d%:[—wsxj = —ast+eos) =1+1 =2

° Q -
Option D]

[END OF QUESTIONS]
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